READING COMPREHENSIONS_36

A. Besides, they get a lot of exposure to novel things through media.
B. Therefore, their mental development did not show any extraordinary signs.

C. Children of the present generation appear to be smarter than their
earliercounterparts.

D. Thus, the environment of present days has brought out these changes.
E. This is probably because there are lots of opportunities for their indirectlearning.
F. Children of yester years did not have these facilities.
1. Which of the following will be the Third sentence afterrearrangement?
a)A
b) B
c)C
d)D
2. Which of the following will be the First sentence afterrearrangement?
a)A
b) B
c)C
d)D
3. Which of the following will be the Sixth sentence afterrearrangement?
a)A
b) B
c)C
d)D
4. Which of the following will be the Second sentence afterrearrangement?

a)A



b) B
c)C
d) E
5. Which of the following will be the Fifth sentence afterrearrangement?
a)A
b) B
c)C
d)D

Choose the word/group of words which is most similar in meaning to the word/group
of words printed in bold

6. Galloped
a) Hurtled
b) Stumbled
c¢) Slumbered
d) Jumped
7. Revered
a) Remembered
b) Feared
c) Talked
d) Respected
8. Reveal
a) Stop
b) Conceal
c) Present
d) Pending

9. Elated



a) Afraid
b) Door

c) Happy
d) Depressed



Answer:-

. Option A
. Option C
. Option D
. Option D
. Option B
. Option A
. Option D
. Option B

. Option D



